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g2 100 | 5.4 | 65.3|18.8| - - - 84.1 100 | 3.7 | 70.4 | 18.3| - - - 88.7

Al XHoHA Xt 4.4 7.1
ESES 100 | 6.9 | 62.0| 0.0 - - - 62.0 100 | 7.1 |59.0| 0.0 - - - 59.0
g 100 | 5.6 | 64.918.9| - - - 83.9 100 | 4.0 | 69.5|17.3| - - - 86.8

AIE X DHE XHS A1) 3.3 4.7
ESES 100 | 7.3 | 59.0| 5.0 - - - 64.0 100 | 6.0 | 65.0 0.0 - - - 65.0
g2 100 | 2.8 | 73.2 120.0| - - - 93.2 100 | 1.3 | 77.4|20.0| - - - 97.3

FAg=3=gn} 21.3 27.6
zE 100 | 3.3 | 71.0120.0| - - - 91.0 100 | 1.7 | 77.0|20.0| - - - 97.0
g2 100 | 5.6 | 64.7 |17.6| - - - 82.3 100 | 3.9 | 69.7|15.0| - - - 84.7

ARHE 5.3 6.1
zE 100 | 8.0 | 56.0 | 0.0 - - - 56.0 100 | 7.2 |59.0 0.0 - - - 59.0
g2 100 | 5.7 |64.7116.2| - - - 80.9 100 | 41 |69.2|155| - - - 84.6

3 F 3| A I 8 13
ES S 100 | 8.3 | 56.0| 0.0 - - - 56.0 100 | 7.3 |59.0 0.0 - - - 59.0
g2 100 | 5.3 | 65.8|18.0| - - - 83.8 100 | 3.7 | 70.3|16.5| - - - 86.9

ZJEAEAE 4.5 8.4
zE 100 | 7.6 | 59.0| 0.0 - - - 59.0 100 | 4.8 |68.0| 0.0 - - - 68.0
g2 100 | 5.8 | 64.0 | 17.2| - - - 81.2 100 | 4.2 |68.8|15.0| - - - 83.8

SAHE S X E 5.8 12.5
zE 100 | 7.2 |59.0 | 0.0 - - - 59.0 100 | 7.2 |59.0| 0.0 - - - 59.0
B 100 | 6.3 | 62.020.0| - - - 82.0 100 | 3.5 |71.018.3| - - - 89.3

S22 B X = 1H0F) 1 7
S 100 | 6.3 | 62.020.0| - - - 82.0 100 | 5.2 |65.017.0| - - - 82.0
2 100 | 49 |66.6 186 | - - - 85.3 100 | 3.8 |70.5|16.2| - - - 86.7

HLU2HAE S 5.6 5.8
eSS 100 | 5.8 | 65.0] 0.0 - - - 65.0 100 | 6.0 | 65.0| 0.0 - - - 65.0
g2 100 | 5.2 | 66.1 [17.8| - - - 83.9 100 | 4.1 |69.1 | 147 - - - 83.8

2SS IHEES 4.8 6.3
ESES 100 | 7.3 | 59.0 | 0.0 - - - 59.0 100 | 6.5 | 62.0| 0.0 - - - 62.0
B 100 | 5.4 653 |18.7| - - - 84.0 100 | 3.8 | 70.016.3| - - - 86.3

JIAAHE 5.4 5.7
S 100 | 7.9 |59.0| 0.0 - - - 59.0 100 | 7.2 |59.0 0.0 - - - 59.0
2 100 | 49 | 66.5]20.0| - - - 86.5 100 | 4.3 |68.0|18.5| - - - 86.5

JIAAZ(0F) 2 0.3
ESES 100 | 6.1 |62.020.0| - - - 82.0 100 | 4.6 |68.0|17.0| - - - 85.0
g2 100 | 2.8 | 73.0[19.9| - - - 92.9 100 | 1.3 | 77.020.0| - - - 97.0

sclxz ot 48.8 132
ESES 100 | 3.3 | 71.020.0| - - - 91.0 100 | 1.5 | 77.020.0| - - - 97.0
g2 100 | 4.0 | 69.6 19.9| - - - 89.5 100 | 2.0 | 75.4|119.9| - - - 95.3

2EARS It 21.8 39.3
ESES 100 | 4.7 | 68.020.0| - - - 88.0 100 | 2.6 | 74.020.0| - - - 94.0
g2 100 | 5.1 | 66.2 |18.8| - - - 85.0 100 | 3.6 |70.8|16.9| - - - 87.7

SAAFE L 7 8.4
zE 100 | 7.5 | 59.0 | 0.0 - - - 59.0 100 | 6.7 | 62.0| 0.0 - - - 62.0
g2 100 | 5.8 | 64.4 153 | - - - 79.7 100 | 4.3 | 68.6|153| - - - 83.9

FSUTHHIEZ2 W 3.8 3.5
zE 100 | 7.8 | 59.0 | 0.0 - - - 59.0 100 | 6.7 | 62.0| 0.0 - - - 62.0
g2 100 | 5.4 1653185 | - - - 83.8 100 | 4.0 | 69.7 |156| - - - 85.2

At = X2t 8.4 13.1
ESES 100 | 8.4 | 56.0| 0.0 - - - 56.0 100 | 6.8 | 62.0| 0.0 - - - 62.0
g2 100 | 5.7 | 64.4 | 17.5| - - - 81.9 100 | 45 | 68.2|149| - - - 83.1

ALSI M= 1 6 6.7
zE 100 | 7.8 | 59.0 | 8.0 - - - 67.0 100 | 6.4 | 62.0| 0.0 - - - 62.0
g2 100 | 5.8 | 64.3|17.5| - - - 81.8 100 | 4.0 |69.6|156| - - - 85.1

A CIRHQ! 1t 4.6 4.4
zE 100 | 8.3 | 56.0 | 0.0 - - - 56.0 100 | 6.9 | 62.0| 0.0 - - - 62.0
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g2 65.4117.0| - - 82.5 83.5
OFTH XH& 1t 2.8
zE 59.0 | 5.0 - - 64.0 59.0
B 66.7 | 19.2 | - - 85.9 88.3
FOtw =1t 10.6 11.4
ESES 59.0 | 0.0 - - 59.0 70.0
g2 70.0 | 19.9| - - 89.9 95.1
SsS7an 18.6 47.8
zE 68.0 | 20.0 | - - 88.0 94.0
g4 68.3 1 19.9| - - 88.3 94.5
2adelut 13.8 25.3
ESES 65.020.0| - - 85.0 91.0
g2 64.2 | 18.0| - - 82.1 83.6
NSIHAZ 3.8 6.1
ES S 59.0 | 0.0 - - 59.0 59.0
s 64.6 | 146 | - - 79.1 86.0
& XA S (0F) 4 1
ESES 56.0 | 8.0 - - 64.0 82.0
g2 65.3 18.6| - - 83.9 88.2
SO0t 4.7 5.7
zE 59.0 | 0.0 - - 59.0 62.0
Fhas 65.2 1 18.9| - - 84.0 85.4
ZFEHEEW 7.6 7
S 59.0 | 0.0 - - 59.0 62.0
g 67.019.9| - - 86.8 90.2
1201883 1.4 12.1
zE 65.0 | 20.0| - - 85.0 85.0
g2 46.2 1 18.2| - 17.0 81.5 87.1
S MUl A Dt 4.4 11.9
ESES 45.0 [20.0| - 0.0 65.0 83.7
g2 67.019.7 | - - 86.7 88.2
IHREIES 8.7 8.8
ESES 65.0 | 17.0| - - 82.0 82.0
s 65.3 | 18.1 - - 83.3 85.2
SE2t2 Ml A 8.6 14.9
ESES 62.0 | 0.0 - - 62.0 62.0
2 64.9|18.3| - - 83.2 86.1
sgxlgese 6.5 8.6
zE 59.0 | 0.0 - - 59.0 59.0
g4 67.5 | 19.1 - - 86.6 89.7
stetE el 4.2 5.7
zE 59.0 | 0.0 - - 59.0 62.0
T2 - - - - - 74.1
LS RUIELIAD - 1.3
EES - -] - - - 61.0
Ha - - -] - - 77.1
MBS REAMH[ A - 4.3
EIES - - -] - - 65.0
] - - -] - - 77.3
LTS - 2.0
2= -l -] - - - 68.0
] - - - - - 78.5
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EIES - - - - - 77.0
HE AP QST F (014 TSI2014 1~28EAE 4TS + 35018
I = ¥ S = WI60E + 420 + HE20F
= x2St 80HE + &420F
KESMDRHIZUAD, ASISIQUMEIAT, SFELE], SAHHUKHE ERL
® A MaA S




L 4
- s - o
020208t d % A (12 EH JA1 23 -1 DIT g2 a2t %l
S R HI=E S (R H) e R A EEE (2EDA)
stay s Mk AR DAl SR B
&t} 3 | g i i 3 | o [ == o= gz =
5 | § | 2 BN Jom oy n | B | § [ BSNE WS IE | on o]
= del ) B zm o | B | B = paas L5248 22
== | @7 S8 | o7

I 100 | 4.3 | 76.1 | 5.7 - - - 81.8 100 74.5 5.0 | 84.0 - - 84.0

AIE XHHE XEDH) 2.5 2.5
ENES 100 | 5.3 [ 65.0| 0.0 - - - 65.0 100 64.6 6.0 | 80.0 - - 80.0
g 100 | 5.6 | 72.7 | 1.8 - - - 74.5 100 68.0 5.7 181.3 - - 81.3

AIEXDHE XS Al 3.5 3.5
ESES 100 | 6.2 | 62.0] 0.0 - - - 62.0 100 64.6 6.0 | 80.0 - - 80.0
Hz 100 | 1.4 |188.1110.0 - - - 98.1 100 97.2 1.4 | 98.3 - - 98.3

255t} 53 53
ENES 100 | 2.0 | 96.0| 0.0 - - - 96.0 100 96.4 2.0 1 96.0 - - 96.0
z 100 | 4.9 | 76.2 | 3.1 - - - 79.3 100 78.3 46 | 85.6 - - 85.6

AFHE 2.7 2.7
ENES 100 | 6.5 | 62.0| 0.0 - - - 62.0 100 71.0 5.0 | 84.0 - - 84.0
g 100 | 4.7 | 75.4 | 5.8 - - - 81.2 100 69.8 5.5 182.0 - - 82.0

A H 3.5 3.5
ESES 100 | 6.0 | 62.0 | 0.0 - - - 62.0 100 60.3 7.0 | 76.0 - - 76.0
Hz 100 | 4.1 | 73.2| 9.9 - - - 83.1 100 76.0 4.7 | 851 - - 85.1

JEHHAE 6.2 6.2
XE 100 | 6.1 | 62.0| 0.0 - - - 62.0 100 62.7 7.0 | 76.0 - - 76.0
z 100 | 5.8 | 72.3| 4.3 - - - 76.5 100 74.3 5.0 | 84.0 - - 84.0

22t B XA 3 3
ENES 100 | 6.1 | 62.0| 0.0 - - - 62.0 100 71.9 5.0 | 84.0 - - 84.0
z 100 - - - - - - 0.0 100 - - - - - -

22+ 2 X X 1H0F) 0

xE 100 - - - - - - 0.0 100 - - - - - -
4z 100 | 4.2 | 77.6 | 8.0 - - - 85.6 100 73.3 5.3 | 82.7 - - 82.7

2ZU2HES 3 3
ENES 100 | 7.0 [ 76.0| 0.0 - - - 76.0 100 61.1 7.0 | 76.0 - - 76.0
I 100 | 5.2 | 76.6 | 6.8 - - - 83.4 100 76.6 4.7 |185.3 - - 85.3

AZES20ES 2.5 2.5
ENES 100 | 6.3 | 62.0|17.0 - - - 79.0 100 72.4 5.0 | 84.0 - - 84.0
g 100 | 45 | 72.7| 6.4 - - - 791 100 75.4 5.0 | 84.0 - - 84.0

JIHAHZ 2.3 2.3
xE 100 | 6.5 | 62.0] 0.0 - - - 62.0 100 62.9 7.0 | 76.0 - - 76.0
2 100 | 5.0 | 84.0] 0.0 - - - 84.0 100 72.0 5.0 | 84.0 - - 84.0

DI HIHIL(OF) 1 1
ENES 100 | 5.0 | 84.0] 0.0 - - - 84.0 100 70.6 5.0 | 84.0 - - 84.0
I 100 | 1.5 [ 86.7 | 11.1 - - - 97.8 100 96.8 1.5 198.0 - - 98.0

= PN 35 35
ENES 100 | 2.0 [96.0 | 0.0 - - - 96.0 100 95.9 2.0 196.0 - - 96.0
g 100 | 2.7 | 88.8] 5.0 - - - 93.8 100 92.4 2.3 194.7 - - 94.7

SEARS 1t 17 17
zE 100 | 3.6 | 71.0 | 20.0 - - - 91.0 100 87.6 3.0 |1 92.0 - - 92.0
Ha 100 | 3.9 | 78.0| 5.8 - - - 83.7 100 78.8 4.4 |86.4 - - 86.4

SAME 7.3 7.3
XE 100 | 4.6 | 68.0| 0.0 - - - 68.0 100 62.9 7.0 | 76.0 - - 76.0
Hz 100 | 3.5 | 73.2| 5.3 - - - 78.5 100 72.7 5.0 | 84.0 - - 84.0

SSAMMHIE S W 6.6 6.6
ENES 100 | 6.7 | 62.0| 0.0 - - - 62.0 100 64.0 6.0 | 80.0 - - 80.0
a3 100 | 4.1 | 75.4 | 71 - - - 82.5 100 72.9 5.2 | 83.1 - - 83.1

Absl = X 1t 10.2 10.2
ESES 100 | 7.0 | 59.0] 0.0 - - - 59.0 100 61.7 7.0 | 76.0 - - 76.0
g 100 | 2.7 | 79.3 | 13.4 - - - 92.7 100 92.4 2.5 194.0 - - 94.0

A3 X = 10 10
XE 100 | 2.9 | 74.0|17.0 - - - 91.0 100 91.9 3.0 | 92.0 - - 92.0
Hz 100 | 46 | 729 | 7.7 - - - 80.6 100 81.6 4.0 | 88.0 - - 88.0

AP CI ROt 7 7
ENES 100 | 7.5 | 59.0| 0.0 - - - 59.0 100 68.4 6.0 | 80.0 - - 80.0
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27 100 | 3.5 | 726 |10.7| - - - 83.2 100 76.9 50 [84.0| - - 84.0
OFTH XH& 1t 5.8 5.8
ESES 100 | 6.9 | 62.0] 0.0 - - - 62.0 100 76.7 5.0 | 84.0 - - 84.0
g4 100 | 3.8 | 77.9 | 10.1 - - - 88.0 100 73.5 5.1 | 83.6 - - 83.6
FOtw =1t 9 9
ESES 100 | 7.0 | 76.0 | 0.0 - - - 76.0 100 60.6 7.0 | 76.0 - - 76.0
g4 100 | 1.9 | 76.0 |20.0| - - - 96.0 100 - - - - - -
S=72 26 -
ESES] 100 | 2.5 | 74.020.0| - - - 94.0 100 - - - - - -
g4 100 | 3.1 | 87.4| 4.4 - - - 91.9 100 86.3 3.3 | 90.9 - - 90.9
Jatd et 14 14
ESES 100 | 4.0 | 88.0| 0.0 - - - 88.0 100 79.3 4.0 [88.0 - - 88.0
27 100 | 4.8 | 75.1] 3.5 - - - 78.6 100 69.5 5.7 | 81.2 - - 81.2
NSIHAZ 3.6 3.6
ESES 100 | 5.7 [65.0] 0.0 - - - 65.0 100 62.9 7.0 | 76.0 - - 76.0
s 100 | 5.0 [84.0] 0.0 - - - 84.0 100 72.0 5.0 | 84.0 - - 84.0
A= XA Z (0F) 1 1
ESES 100 | 5.0 [84.0] 0.0 - - - 84.0 100 70.6 5.0 | 84.0 - - 84.0
27 100 | 3.6 | 74.7 | 8.9 - - - 83.5 100 84.1 3.7 189.3| - - 89.3
FSiins 1.8 1.8
ESES 100 | 5.7 | 65.0] 0.0 - - - 65.0 100 73.4 5.0 | 84.0 - - 84.0
g4 100 | 4.7 | 75.4 | 4.5 - - - 79.9 100 76.5 4.8 |85.0 - - 85.0
AREHEEN 7.5 7.5
ESES 100 | 6.8 | 62.0 | 0.0 - - - 62.0 100 62.9 7.0 | 76.0 - - 76.0
g2 100 | 3.3 | 76.3 | 4.9 - - - 81.1 100 77.6 4.8 |85.0 - - 85.0
1201883 8.5 8.5
ESES] 100 | 5.1 | 65.0] 0.0 - - - 65.0 100 60.6 7.0 | 76.0 - - 76.0
g4 100 | 41 |57.4(11.0] - 152 - 83.6 100 76.1 45 |66.0|16.5| - 82.5
S AEIA D 15 15
ESES 100 | 4.4 | 51.0120.0| - 3.3 - 74.3 100 71.0 50 [64.0[17.3| - 81.3
27 100 | 3.4 | 80.5| 9.5 - - - 89.9 100 86.3 3.3 1909 - - 90.9
IHREIES 9.4 9.4
ESES 100 | 5.0 [84.0] 0.0 - - - 84.0 100 76.1 5.0 | 84.0 - - 84.0
s 100 | 4.4 | 74.7 | 5.4 - - - 80.1 100 75.0 4.8 |85.0 - - 85.0
SEZtZ Ml A D 6.8 6.8
ESES 100 | 7.1 [59.0| 0.0 - - - 59.0 100 60.6 7.0 | 76.0 - - 76.0
s 100 | 4.0 | 73.6 |12.7| - - - 86.3 100 77.8 45 |85.8 - - 85.8
SeXe|Zeee 4.2 4.2
ESES 100 | 5.7 | 65.0] 0.0 - - - 65.0 100 68.4 6.0 | 80.0 - - 80.0
g4 100 | 3.7 | 79.3 | 8.5 - - - 87.8 100 72.9 5.0 | 84.0 - - 84.0
ster8 ) 2 2
ESES 100 | 5.0 [84.0] 0.0 - - - 84.0 100 72.9 5.0 | 84.0 - - 84.0
27 - - - - - - - - 100 - - - - - -
PSMIRYIELIAD - -
ESES] - - - - - - - - 100 - - - - - -
g2 - - - - - - - - 100 - - - - - -
ABISX LA AD - -
ESES - - - - - - - - 100 - - - - - -
27 - - - - - - - - 100 - - - - - -
QRS - -
={ES e e e e I I I 100 - - - - - -
=Ea! e e e e e e I 100 - S N S
A OIHLIKIHE B} - -
=Sk e e e e e e I 100 - e T B
MBS QS ZIIE(0IAEH20/ 4 1~28HAE AR + 3BHEH1E)| 2B F10LSHH)
Dl E | EESD 1008 - DHEOR + EH20E + BE0F
%95t : 1008 = DHBOE + EA20E




